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The figures in the margin indicate full marks
for the questions.
Answer Question No. 1 and any Four from the rest.
1. Choose the correct answer from the following : (10 x 1 = 10)

(1) Round off to the four significant digits of the number 8203524 is

(a) 8.203 (b) 8.204

(c) 8.2035 (d) none of these
(1) Which of the following is a true relation?
(@) A=1-E . (b) V=1-E™
() AV=A-V (d) none of these
(m) If x =5, whatis Ax ?
(a) O (b) 1
© 3 d 4
(iv) If y =ax?, then for h =1, A’y is
(a) O (b) 6a
() 6ax (d a
(v) The error in composite Trapezoidal rule with n interval is
(a) —-,ﬁ(b—ay"(x) (b) -E-(b -a)‘"(x)
12 12
) - {—;%(b ~a)f“(x) (d) none of these

[Turn over



(vi)

In Simpson's %rule the curve y =f (x) is approximated as

(a) straight line (b) second degree curve
(¢) third degree curve (d) fourth degree curve
(vi1) Newton-Raphson method is given by
f(x ' x,)
(a) « el =Xy = g ) Xt
1 f’ xn (b A= (x
o i_ﬁtl xj_i(x ) M
© x,.,== none of these
b f (x ) f (x - l)
(vi1i) Gauss elimination method 1s
(a) an iterative method (b) non-iterative method
(¢) a diagonal method (d) matrix inversion method

(ix)

(x)

2. (a)

(b)
©

3. (a)

(b)

(e)

If fla)f(b)<0 in bisection method after n mtemmn, the root lies in the
interal whose length is ‘

b-a b-a
(a) 5 (b) o

(b-a) b-a)"

- d
€, = @ 172 .
¥ I:A"‘_.\"'Av &.‘
Error in modified Euler's method is B ,9_;\73; ,:;\ s
@) Ofn?) ®) ofx?) b
© Ol @ ofn®)
Round the numbers to four significant figures : 2.30456, 23.400056, 3.42635,
0.0022718. 4)
Prove that A"y, =V"y,. .. (5)
Find the missing term from the following data: (6)
1112|134 | 5

y:|=1[3|-|53]111

Prove that A*(1—x )(1-2x)(1~8x)=-36,(h =1). (4)

The time period of a simple pendulum is given by 7T = ZRJZ-: Iflis

increased by 2% and g is increased by 2% find the percentage change in T.

(5)
Find f(2) for the curve y =f(x) that takes values f(0)=3, f(3)=18,
f(6)=195, f(9)=896. (6)

MA 131401 NR 2



4.  (a)

(b)

(b)

i (a)

(b)
(c)

T (a)

(b)

Find the Lagrange's formula, the interpolation polynomial which

corresponds to the following data; (7T
x:|=1|0[2] 5
y:| 915|3|15
Find the interpolation y =f (x) by Newton’s divided difference formula for
the following data and hence find f (6) : (6+2=8)
112 |4
y:(3[-5] 4

|
Use Trapezoidal rule to evaluate [x’dx considering 5 sub-intervals correct
)

to two decimal places. Also determine the error using formula. (5+ 3 =8)
| 4

Evaluate [ 5 using Simpson’s 1 rule. (7)
ol4x 3

Find the cube root of 20 by Newton-Raphson method. (5)

Using bisection methed find the root of the equation x> +x +1=0. (5)

Find a real root of the equation x log, x - 2= 0 by Regula False Method. (5)

Using Gauss-Jordan method, sclve the system of equation. (7
x+2y +z2=8; .

2x +3y +4x =20; BINACHOWSH L = O ¢ LR LIERARY

448y 2 =18 S iiosimnms,

Solve g% =2x +y , ¥(1)=2 by 4% order Runge-Kutta method at x =1.2. (8)
Or

Solve Z;y =¥y, y(1)=2 at x =1.2 by Euler's predictor-corrector formula.
X X
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